FRPATH 2021~2022 S4B 8 — 580 7L E B KR 23
B¥s 28R

1 2 3 4 5 6 7 8 9 10

B C B C D B A A

(@
o8]

11.3 12.—1 13.2 14.1260 15.8 16.4 17.125° 18.9
19. fi#t B T RIS 32" —4x—1=0,

A= (— 24X 3K (—1) =28, .'.I:_(_24>)<J§ V28 :Hgﬁ,

311::2%;J7»1e::2_g/7.(46%)

20. fit A, %82 OD, " AB 2O0 i HA%,5% CD| AB FJ5 E,
S.CD=2ED=2CE,

**CD=20E...DE=O0E, (2 4%

**CD | AB.,.. /DOE=_/0ODE=45°,

.'.4BCD:%4DOE:22. 5°. (4 49)

21. A, (340

K@
=

B

I

™~ A’
cl e
SUB20[ 1123 4 b

=1

it A’,B’,C’E"Jéléﬁ%:lA’(S,Z),B’(2,4),2C/(1,1). (643

22. . (D AB KR« K.

M 2(34+2—3x) =96, +1=4,x,=8.

22 AB KON 4 Kl 8 Kt KIJTTE ABCD T LA 96 SEJ5 K. (3 43)
(B K T ABCD BT 110 SFE 5K,

N x(34+2—32)=110, B 322 —36x+110=0,
UA=(—36)2—4X3X110=—24<0,
SOZ—TC RO BRSO S AR ST

SKITE ABCD TR GE R 110 ~FJ52K. (6 41)

23. ff - (DUER . " AABC %85 B i £t Rs 60°15 8| ADBE,
~./DBE=_/ABC, /EBC=60°,BE=BC.,

(% - 5252 £ 17(#£37)] - 22—09—RCCZ03c »



' /DBC=90°,.. /DBE=_/ABC=30°,.". /ABE=30",
**BA=BA, .. NABCL2/ABE(SAS). (3 /})
2) " ANABC %35 B wint £l igs% 60488 ADBE, .. /BED=_/C,DE=AC=2,
 NABCXNABE, .. /BEA=_/C,AE=AC=2,
v /C=45°,.. /BED=_/BEA=_/C=45°,
s /AED=90°,DE=AE, .. AD=J2AE=22. (6 4}
24 fif - (AR P80 2 AR B T

i g

T

El I 2 3
VAN NN

2,2 2 = 2 M,

R, ML R
- ;

2 EER 2 =

JAT 12 B R REAOLE L B P BRI BT 6 .
ST BRI B R = (34D

@IBAGKEN A BEGREN BAG BB SRBTHAY BB WARRE 0 F

g
A B B,

RN
A B B,A B, B,A B B,

Ay 9 FhAEATRERYZE AL . PIUCHR BRI AE SR (L XA 4 B
SARER 2 W\%‘B%E’é@ﬁiﬁ‘]’f%%ﬂvg. (791)

25. i : (DR 75 y=300—10(x—60),
oy 5 WEREERIA A y = — 1024900, (3 43)
OB H W EFIE N w,
N w=(x—50)(—10x+900) = —10x* +14002x—45000,
w=—10(x—70)*+4000,
SRR B 70 JTRT RAS B R RN L B KR SR 4000 JT. (7 43)
26.f#. (1) OA=2,0B=4,..A(—2,0),B(4,0),
3

a—-—

da—2b—6=0 .
& 16a+4b6—0’%1jb_3
2

SR AT = *x —31 6. (341

(OmE . DEDG |« 8T G.5¢ BC T H,
M =0, y=—6,." C(O,*G)a

EJYBCE’J%*)?JU@y* x—6,

w D(I,iﬁféxffi) | H(x,éI*G) ,
4 2 2
DHzgx 6—(%1 —%1—6)* *IZ+3JC,
.. 1 9 1 9 JH 1 b
. SAIK?D_?DH . ()B—E ?XZLX( *r +3r)—? RS =188 3,
(%% - 5%5% F2T(H#37)] + 22—09—RCCZ03c -



S D TEEZ AL L, S =3, .'.D(S,—IZS),

AABDE@ER*—AB DG—= —><6><E @ (84

X

27. f#: (DUEW] : Gl #%:4% BD,
“"AB EH#, . S ADB=90°,.. /BDC=90°,
**AB=AC,.. /ABC=_ACB,
**CP//AB, .. /ABC= /BCF,.. /ACB=_/BCF,
**CF=CD,BC=BC,../\BCDXLABCF(SAS), .. /BDC=_BFC=90°,
**CP//AB,.. /ABF=90°,..BF G0 4. (49
(D)% CD=x,M] AD=5—x,
H /A 2 345, BD? = AB? —AD* = BC? —CD*,
B 52— (5—2)?=(2/5)* —2* . f#f8 +=2...CD=2,BD=4,
i (DA ABCDLABCF, .. BD=BF=4. (8 4})

Lo
%

FP

28. fift: (D ORREEIZ KT v JhXTFR; (2 67\>

Qrx=—28 x=08 x=2;4 4

@—1<a<0. (6 41

(¥4 REL y=— (x| —D* WER AT 2 A 5047, 0] P 3 AT 15 51 pR %k v, =
—(lx—2[—D*+3 WK%,

B 2<<y <3 I, AR « IREIE RS 0<a<<4 H 272. (10 41)

%
I
W
h
o3
i

F3W(H37)] « 22—09—RCCZ03c



